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2+ 30+ 6x° — 3(6x + 5x2)

X8 -7+ 2(8)(3 — Tx)

x+ 6x2+x—6x2+7x

4% + 9x° — 4(9)62 — 4x3) +5x°

x— 7+ 2x — 9% + 8x

=N

Sx— 5% +x° - 2(7x3 + 8x)

3(6x2 + 3x2) +4x— X + 8

3(7x2 - x3) +3x+ 2% — 5x

Sx? + 50 + 3(7x+ 4x) + 27

S5x—5x+9%x— 2(3x2 + 3x)
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2+ x>+ 6xF — 3(6x + 5x°)
X — 9% — 16x

X =8 =T+ 2(8)(3 — Tx)
2 — 14x

x+ 6x° +x— 6x° + Tx
Ox

4 + 90 — 49 — 4x) + 5¢°
30x° — 32x

x— 7> + 2x — 9% + 8x
—16x% + 11x

5x— 50 +x% — 2(7x3 + 8x)
—14° — 42 — 11x

3(6x% + 3x%) + dx — X + 81
8x° + 26x% + 4x

3(7x2—x3)+3x+2x2—5x
—3x° + 232 — 2x

5% + 5% + 3(Tx + 4x) + 2x°
7 + 58 + 33x

S5x—5x+9x— 2(3x2 + 3x)
—6x% + 3x
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